%,0.04F-
£k
$.0351
E 0.03E
5 003
®.025F
80.02F
o C
—39.015_—
2 =
0.01

......................................................................

4

°%50

: LT T FIE=3E
30 40 50 60 70 80
Pileup

—=— DQM_TT origimat -
—— BéM_ﬂ_mod xmodels_truthfinal_modelTEST-29

— mod—xmodels~truthallhit

mod_xmodels_truthfinal _reg_modelTEST-27
mod_xmodels_truthallhits_modelTEST-29
s—reg modelTEST-25

U.UOL

articles
o
B
a1
|III

%,0.04F
£ E
$.035(
= 0.03E
3 0-03
®.025F

E 0.02

O
9.015
()]

Cedte T S Sy T RURA
%Fq, 11 1 !.‘.I 11 ITI 1 PI

il TR BT
e 5

Tl I:|e
4

3 1 1-1[4. ‘ g
ST

aw
4L




	Contents
	Page 1


